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𝑄

𝑄𝑎𝑑

𝑄𝑁

𝑄𝑅

𝑟

𝑅

𝑟𝑗

𝑟𝑖

𝑠

𝑆

𝑆𝑖

𝑡

𝑇

𝑇𝑔

𝑇𝑠

𝑢

𝑣

𝐺𝐻𝑆𝑉

𝑋𝐶𝑂2

𝑥𝑖

𝑌𝐶𝐻4



𝛽

𝛽

Δ𝑟𝐺

Δ𝑟𝐻

Δ𝑟𝑆

𝜀

𝜂

𝜃

𝜃𝑖

𝜆

𝜆

𝜆𝑒𝑞

𝜇

𝜈𝑖,𝑗

𝜌

𝜏

𝜔𝑖

Ψ Ψ = 𝑚𝑆𝑖𝐶/𝑚𝑐𝑎𝑡𝑎

0



∗

0

𝐶𝑎 𝐶𝑎 = 𝑟𝑎𝑝𝑝(𝑑
6⁄ ) (𝑘𝑠𝐶𝐴)⁄  

𝐾𝑛 𝐾𝑛 = 𝑙𝑝/𝑑𝑝

𝑁𝑢𝑑 𝑁𝑢 = ℎ𝑑/𝜆𝑔

𝑃𝑒𝑚 𝑃𝑒𝑚 = 𝑑. 𝑢/𝐷

𝑃𝑒𝑑 𝑃𝑒𝑑 = 𝑅𝑒𝑑. 𝑃𝑟

𝑃𝑟 𝑃𝑟 = 𝜇. 𝐶𝑝/𝜆𝑔

𝑅𝑒𝑑 𝑅𝑒𝑑 = 𝜌. 𝑢. 𝑑/𝜇

𝑆𝑐 𝑆𝑐 = 𝜇/(𝜌𝐷)

𝑆ℎ𝑑 𝑆ℎ = 𝑘𝑠𝑑/𝐷





 

 

 

 



 







 

 



 

 

 

 

 

 



 

 



 



 

 

𝐶𝑂2 + 4𝐻2 ⇌ 𝐶𝐻4 + 2𝐻2𝑂 (∆𝑟𝐻298𝐾
0 = −165 𝑘𝐽. 𝑚𝑜𝑙−1)

𝐶𝑂2 + 𝐻2 ⇌ 𝐶𝑂 + 𝐻2𝑂 (∆𝑟𝐻298𝐾
0 = 41 𝑘𝐽. 𝑚𝑜𝑙−1)

𝐶𝑂 + 3𝐻2 ⇌ 𝐶𝐻4 + 𝐻2𝑂 (∆𝑟𝐻298𝐾
0 = −206 𝑘𝐽. 𝑚𝑜𝑙−1)

 

 



2 𝐶𝑂 ⇌ 𝐶 (𝑠) + 𝐶𝑂2 ∆𝑟𝐻298𝐾
0 = −172 𝑘𝐽. 𝑚𝑜𝑙−1

𝐶𝐻4 ⇌ 2 𝐻2 + 𝐶 (𝑠) ∆𝑟𝐻298𝐾
0 = 75 𝑘𝐽. 𝑚𝑜𝑙−1

𝐶𝑂 + 𝐻2  ⇌  𝐶 (𝑠) + 𝐻2𝑂 ∆𝑟𝐻298𝐾
0 = −131 𝑘𝐽. 𝑚𝑜𝑙−1

𝐶𝑂2 + 𝐻2  ⇌  𝐶 (𝑠) + 2 𝐻2𝑂 ∆𝑟𝐻298𝐾
0 = −90 𝑘𝐽. 𝑚𝑜𝑙−1

 



𝐾𝑗,𝑒𝑞(𝑇) = exp (
−∆𝑟𝐺𝑗°(𝑇)

𝑅𝑇
) = ∏ 𝑎

𝑒𝑞,𝑖

𝜈𝑖,𝑗  

𝑖

𝜈𝑖,𝑗 𝑎𝑒𝑞,𝑖

∆𝑟𝐺𝑗°(𝑇)

∆𝑟𝐺𝑗°(𝑇) =  ∆𝑟𝐻°(𝑇) − 𝑇. ∆𝑟𝑆𝑗°(𝑇)

𝑋𝐶𝑂2
=

𝐹𝐶𝑂2

𝑒 − 𝐹𝐶𝑂2

𝑠

𝐹𝐶𝑂2

𝑒

𝑆𝐶𝐻4
=

𝐹𝐶𝐻4

𝑠

𝐹𝐶𝑂2

𝑒 − 𝐹𝐶𝑂2

𝑠

𝑌𝐶𝐻4
=

𝐹𝐶𝐻4

𝑠

𝐹𝐶𝑂2

𝑒







 

 



 





 



 

















 





 



 

 





𝑟𝑖
+ = 𝑟𝑖

−

 

𝜃𝐴

𝐾𝑗

𝐴



𝜃𝐴 =  
𝐾𝐴𝑃𝐴

1 + ∑ 𝐾𝑗𝑃𝑗𝑗

 

 

𝐴 + 𝐵 ⇆  𝑅 + 𝑆

𝐴 + ∗ ↔ 𝐴∗

𝐵 + ∗ ↔ 𝐵∗

𝐴∗ + 𝐵∗ → 𝑅∗ + 𝑆∗

𝑅∗ ↔ 𝑅 + ∗

𝑆∗ ↔ 𝑆 + ∗

𝐴 + 𝐵 =  𝑅 + 𝑆

𝑟 = 𝑘
𝐾𝐴𝑃𝐴𝐾𝐵𝑃𝐵

[1 + 𝐾𝐴𝑃𝐴 + 𝐾𝐵𝑃𝐵 + 𝐾𝑅𝑃𝑅 + 𝐾𝑆𝑃𝑆]2

𝐾𝐴𝑃𝐴 + 𝐾𝐵𝑃𝐵 ≫ 1 + 𝐾𝑅𝑃𝑅 + 𝐾𝑆𝑃𝑆

𝑟 = 𝑘

𝐾𝐴
𝐾𝐵

𝑃𝐵
𝑃𝐴

(
𝐾𝐴
𝐾𝐵

+
𝑃𝐵
𝑃𝐴

)
2



𝑃𝐵/𝑃𝐴 𝐾𝐴 𝐾𝐵⁄ = 𝑃𝐵 𝑃𝐴⁄

𝐾𝐴𝑃𝐴 = 𝐾𝐵𝑃𝐵

𝑟 = 𝑘
𝐾𝐴𝑃𝐴𝑃𝐵

[1 + 𝐾𝐴𝑃𝐴 + 𝐾𝑅𝑃𝑅 + 𝐾𝑆𝑃𝑆]2



𝑟 =
[𝐹𝑎𝑐𝑡𝑒𝑢𝑟 𝑐𝑖𝑛é𝑡𝑖𝑞𝑢𝑒][𝑇𝑒𝑟𝑚𝑒 𝑑𝑒 𝑝𝑜𝑡𝑒𝑛𝑡𝑖𝑒𝑙]

[𝑇𝑒𝑟𝑚𝑒 𝑑′𝑎𝑑𝑠𝑜𝑟𝑝𝑡𝑖𝑜𝑛]𝑛

𝑛

𝐴 + 𝐵 ⇆  𝑅 + 𝑆

𝑟 =

[𝑘𝑠𝐾𝐴𝐾𝐵][𝑃𝐴𝑃𝐵 −
𝑃𝑅𝑃𝑆
𝐾𝑒𝑞

]

[1 + 𝐾𝐴𝑃𝐴 + 𝐾𝐵𝑃𝐵 + 𝐾𝑅𝑃𝑅 + 𝐾𝑆𝑃𝑆]2



 

 





≤ 1

 

 

𝑘 = 𝑘0 exp (−
𝐸𝑎

𝑅𝑇
)

𝐾 = 𝐾0 exp (
𝑄𝑎𝑑

𝑅𝑇
)

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2
(1 −

𝑝𝐻2𝑂
2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 +  𝐾𝐻2
𝑝𝐻2

+  𝐾𝐶𝐻4
𝑝𝐶𝐻4

+ 𝐾𝐻2𝑂
𝑝𝐻2𝑂

𝑝𝐻2
⁄ )

2

 





𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =  

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝑝𝐶𝑂2

0,5 𝑝𝐻2

0,5 (1 −
𝑝𝐻2

4 𝑝𝐶𝑂2

𝑝𝐻2𝑂
2𝑝𝐶𝐻4

𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ
)

(1 + 𝐾1 (
𝑝𝐶𝑂2

𝑝𝐻2

)
0,5

+ 𝐾2(𝑝𝐶𝑂2
𝑝𝐻2

)0,5 +
𝑝𝐶𝑂
𝐾3

)

2

 



𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2

0,5 (1 −
𝑝𝐻2𝑂

2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝑂𝐻

𝑝𝐻2𝑂

𝑝𝐻2

0,5 + 𝐾𝐻2
𝑝𝐻2

0,5 +  𝐾𝑚𝑖𝑥𝑝𝐶𝑂2

0,5 )

2



𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2

0,5 (1 −
𝑝𝐻2𝑂

2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝑂𝐻

𝑝𝐻2𝑂

𝑝𝐻2

0,5 )

2

ecd 



𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝐾𝐶𝑂2
𝑝𝐶𝑂2

𝐾𝐻2,𝑝é𝑟𝑖𝑝𝐻2
(1 −

𝑝𝐻2𝑂
2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

)(1 + 𝐾𝐻2,𝑝é𝑟𝑖𝑝𝐻2
)

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2
(1 −

𝑝𝐻2𝑂
2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 + 𝐾𝐻2
𝑝𝐻2

+  𝐾𝐶𝐻4
𝑝𝐶𝐻4

+  𝐾𝐻2𝑂

𝑝𝐻2𝑂

𝑝𝐻2

)
2

≤ 1

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =  

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝑝𝐶𝑂2

0,5 𝑝𝐻2

0,5 (1 −
𝑝𝐻2

4 𝑝𝐶𝑂2

𝑝𝐻2𝑂
2𝑝𝐶𝐻4

𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ
)

(1 + 𝐾1 (𝑝𝐶𝑂2
𝑝𝐻2

) ⁄ 0,5
+ 𝐾2(𝑝𝐶𝑂2

𝑝𝐻2
)0,5 + 𝑝𝐶𝑂 𝐾3)⁄ 2

 

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2

0,5 (1 −
𝑝𝐻2𝑂

2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝑂𝐻

𝑝𝐻2𝑂

𝑝𝐻2

0,5 + 𝐾𝐻2
𝑝𝐻2

0,5 +  𝐾𝑚𝑖𝑥𝑝𝐶𝑂2

0,5 )

2



𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑝𝐻2

0,5𝑝𝐶𝑂2

0,5 (1 −
𝑝𝐻2𝑂

2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝑂𝐻

𝑝𝐻2𝑂

𝑝𝐻2

0,5 )

2

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝐾𝐶𝑂2
𝑝𝐶𝑂2

𝐾𝐻2,𝑝é𝑟𝑖𝑝𝐻2
(1 −

𝑝𝐻2𝑂
2 𝑃𝐶𝐻4

𝑝𝐻2

4 𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ 

)

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

)(1 + 𝐾𝐻2,𝑝é𝑟𝑖𝑝𝐻2
)

 

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝑝𝐻2

0.5𝑝𝐶𝑂 (1 −
𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 +  𝐾𝐻2
𝑝𝐻2

+  𝐾𝐶𝐻4
𝑝𝐶𝐻4

+ 𝐾𝐻2𝑂

𝑝𝐻2𝑂

𝑝𝐻2

)
2



𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝐾𝑐𝐾𝐻
2𝑝𝐶𝑂

0.5𝑝𝐻2
(1 −

𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂
05 +  𝐾𝐻2

𝑝𝐻2

0,5)
3

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝑝𝐶𝑂
0.5 (1 −

𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾 (
𝑝𝐶𝑂
𝑝𝐻2

)
0,5

)

2



𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝑝𝐻2

0.5𝑝𝐶𝑂 (1 −
𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 + 𝐾𝐻2
𝑝𝐻2

+  𝐾𝐶𝐻4
𝑝𝐶𝐻4

+  𝐾𝐻2𝑂

𝑝𝐻2𝑂

𝑝𝐻2

)
2



𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝐾𝑐𝐾𝐻
2𝑝𝐶𝑂

0.5𝑝𝐻2
(1 −

𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂
05 +  𝐾𝐻2

𝑝𝐻2

0,5)
3

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝑝𝐶𝑂
0.5 (1 −

𝑝𝐻2𝑂𝑝𝐶𝐻4

𝑝𝐻2

3 𝑃𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾 (
𝑝𝐶𝑂

𝑝𝐻2

)
0,5

)

2

 

𝑟𝑅𝑊𝐺𝑆 =

𝑘𝑅𝑊𝐺𝑆𝑝𝐶𝑂2
(1 −

𝑝𝐻2𝑂𝑝𝐶𝑂

𝑝𝐻2
𝑝𝐶𝑂2

𝐾𝑒𝑞,𝑅𝑊𝐺𝑆
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 + 𝐾𝐻2
𝑝𝐻2

+  𝐾𝐶𝐻4
𝑝𝐶𝐻4

+  𝐾𝐻2𝑂

𝑝𝐻2𝑂

𝑝𝐻2

)
2



𝐶𝑂 − 𝑀 + 𝐻2𝑂 − 𝑀 ⇌ 𝐶𝑂2 − 𝑀 + 𝐻2 − 𝑀

𝑟𝑅𝑊𝐺𝑆 =

𝑘𝑅𝑊𝐺𝑆𝐾𝐻2
𝐾𝐶𝑂2

𝑝𝐻2
𝑝𝐶𝑂2

(1 −
𝑝𝐻2𝑂𝑝𝐶𝑂

𝑝𝐻2
𝑝𝐶𝑂2

𝐾𝑒𝑞,𝑅𝑊𝐺𝑆
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 + 𝐾𝐻2𝑂𝑝𝐻2𝑂 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+ 𝐾𝐻2
𝑝𝐻2

)
2



𝑟𝑅𝑊𝐺𝑆 =

𝑘𝑅𝑊𝐺𝑆𝑝𝐶𝑂2
(1 −

𝑝𝐻2𝑂𝑝𝐶𝑂

𝑝𝐻2
𝑝𝐶𝑂2

𝐾𝑒𝑞,𝑅𝑊𝐺𝑆
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 +  𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐶𝐻4
𝑝𝐶𝐻4

+ 𝐾𝐻2𝑂

𝑝𝐻2𝑂

𝑝𝐻2

)
2

≤ 1

𝑟𝑅𝑊𝐺𝑆 =

𝑘𝑅𝑊𝐺𝑆𝐾𝐻2
𝐾𝐶𝑂2

𝑝𝐻2
𝑝𝐶𝑂2

(1 −
𝑝𝐻2𝑂𝑝𝐶𝑂

𝑝𝐻2
𝑝𝐶𝑂2

𝐾𝑒𝑞,𝑅𝑊𝐺𝑆
)

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 + 𝐾𝐻2𝑂𝑝𝐻2𝑂 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+ 𝐾𝐻2
𝑝𝐻2

)
2



 



 

 





 



𝐴𝑙2𝑂3(𝑠)
+ 𝑁𝑖(𝑠) + 𝐻2𝑂(𝑔)  ⇆  𝑁𝑖𝐴𝑙2𝑂4(𝑠)

+ 𝐻2(𝑔)
 

𝑁𝑖𝐴𝑙2𝑂4(𝑠)
 









 



√𝐷𝑠𝑡 ~ 2𝑅



𝜇 = 𝜇0 +
2𝛾𝑚𝛺

𝑅
 

𝜇0 𝛺

R𝑖
∗(𝑡) = 𝑅𝑖

∗(0) (1 +
Ki𝑡

𝑅𝑖
∗3(0)

)

1
3

≈ 𝐾𝑖𝑡

1
3

R𝑑
∗ (𝑡) = 𝑅𝑑

∗ (0) (1 +
KD𝑡

𝑅𝐷
∗4(0)

)

1
4

≈ 𝐾𝐷𝑡

1
4

 



 

𝑓𝑖(𝑡,  𝜌) =
𝑐𝑖𝜙𝑖(𝜌)

(1+
𝑡

𝑡𝑖
)

2 

𝜌 =
𝑅

𝑅∗

 

𝑓𝑑(𝑡,  𝜌) =
𝑐𝑑𝜙𝑑(𝜌)

1+
𝑡

𝑡𝑑



𝑅

𝑅∗



 

 

 

 

𝑑𝑅

𝑑𝑡
= (

𝑅

𝑅∗
− 1) 

𝑓(𝜌) =

81𝑒𝜌2exp (
1

2𝜌
3

−1
)

√32
3 (𝜌+3)

7
3(1,5−𝜌)

11
3

ρ



𝑘(𝑅) =  𝜉𝜆𝑅𝜆−2 

𝜉𝜆

𝑑𝑅

𝑑𝑡′
= 𝑅𝜆−1(

𝑅

𝑅∗
− 1) 

 𝜆 = 2

 𝜆 = 1

 𝜆 = 0

 𝜆 =  −1

𝑉 =
𝐷𝑝

𝑘𝑇
𝐹



Migration des particules 

𝐷𝑝, 

 

𝐷𝑝 = 0,301𝐷𝑠 (
𝑎

𝑅
)

4

 

𝑎

𝐷𝑠

𝐷𝑠 = 𝐷0 exp (−
𝑄

𝑅𝑇
) 

𝐷0

𝑋𝑝 = 2√𝐷𝑝𝑡 

𝑋𝑝

 

𝐷𝑝 =
𝐷𝑠𝑅

𝛼𝑠
𝑒𝑥𝑝 (−

2𝑔𝜋𝑅𝛾𝑒

𝑘𝑇
) 

𝛼𝑠



𝛾𝑒

 

𝐷𝑝 =  
4𝑧𝑔5𝐷𝑠𝑅

3𝜆2𝑏
exp (−

2𝑔𝜋𝑅𝛾𝑒

𝑘𝑇
) 

𝑅𝑐 𝛾𝑒

Coalescence des particules 

 

o 

o 

o 

𝑅0
4

𝐵
𝑅0

𝐵 =
𝐷𝑠𝑁0𝛾0𝛺2

𝑘𝑇
𝐷𝑠

𝑁0 Ω

𝛾0



 

 

 

𝑛𝑘

𝑑𝑛𝑘

𝑑𝑡
=

1

2
 ∑ 𝐾𝑖,𝑗𝑛𝑖𝑛𝑗 − 𝑛𝑘 ∑ 𝐾𝑖,𝑘𝑛𝑖

∞

𝑖=1𝑖+𝑗=𝑘

 

𝐾𝑖,𝑗

𝑛𝑘

𝑑𝑆

𝑑𝑡
= −𝐶𝑆𝑛 

𝐾𝑖,𝑗

Influence de la température et des pressions d’H2 et H2O 



𝑝𝐻2𝑂/𝑝𝐻2



Influence du métal sur le frittage des particules métalliques 



Influence du support sur le frittage des particules métalliques 



Influence du TOF (« Turn Over Frequency ») 



 



Nature des dépôts 



 

 



α

β

γ

Vitesse de formation des dépôts 



 



 







  







 

Prévention des dépôts 



Zone 1 Zone 3 Zone 2 



Techniques de régénération 

α

β

 



 

𝑟 = 𝑟(𝐶, 𝑇, 𝑃, … , 𝑎) 

𝑟0)

𝑟 = 𝑟0(𝐶, 𝑇, 𝑃, … )𝑟1(𝑎) 

𝑟1(𝑎) 𝑎

0 < 𝑎 < 1

𝑎 =
𝑟

𝑟0
 

𝑟0

𝑟

𝑎 𝑡

−
𝑑𝑎

𝑑𝑡
= 𝑟𝑑𝑎𝑑 = 𝑘𝑑𝐶𝑖

𝑚𝑎𝑑 

𝑑 𝑟𝑑 𝐶𝑖
𝑚

𝑘𝑑



−
𝑑𝑎

𝑑𝑡
= 𝑘𝑑𝐶𝑖

𝑚(𝑎 − 𝑎𝑒𝑞)𝑑 

𝑎 = 1 − 𝑘𝑑𝑡 𝑎 = exp (−𝑘𝑑𝑡)

𝑎 = 𝑘𝑑𝑡0,5 𝑎 = (1 + 𝑘𝑑𝑡)−𝑁 𝑡

𝑘𝑑 𝑟𝑑 = 𝑓(𝑡)

 

𝑟 = 𝑁𝑇 . 𝑟𝑖𝑛𝑡𝑟 . 𝜂 

𝑟 𝑟𝑖𝑛𝑡𝑟

𝑁𝑇 𝜂

𝑁𝑇

𝑟𝑖𝑛𝑡𝑟

𝜂



−
𝑑 (𝐷(𝑡)

𝐷0
⁄ )

𝑑𝑡
= 𝑘𝑠 (

𝐷(𝑡)

𝐷0
)

𝑛

 

𝐷0 𝑘𝑠 𝑛

𝑘𝑠, 𝑛)

𝐷𝑒𝑞

𝐷0

𝐷𝑒𝑞

−
𝑑 (𝐷(𝑡)

𝐷0
⁄ )

𝑑𝑡
= 𝑘𝑠 (

𝐷(𝑡)

𝐷0
−

𝐷𝑒𝑞

𝐷0
)

𝑚

 



𝑘𝑠 = 𝑘0 exp (−
𝐸𝑎

𝑅𝑇
) 

ln(𝑘𝑠) = 𝑓(𝑇)

𝑑(𝑑̅)

𝑑𝑡
= 𝑐𝑜𝑛𝑠𝑡

𝐷(𝑑̅𝑛)𝑋

𝜌(1 − 𝑋)𝐴𝑑̅2
 

𝐷



𝑑̅𝑁𝑖

𝑑̅0

= (𝑐𝑜𝑛𝑠𝑡.
𝐾1𝐷𝑁𝑖𝑋𝑡

𝑑̅0
7(1 − 𝑋)𝐴

+ 1)

1/7

 

𝑑̅𝑁𝑖

𝑑̅0

= (𝑐𝑜𝑛𝑠𝑡.
𝐾2𝐷OH−dimer𝑋𝑡

𝑑̅0
7(1 − 𝑋)𝐴

𝑝𝐻2𝑂

√𝑝𝐻2

+ 1)

1/7

 

𝑐𝑜𝑛𝑠𝑡

𝑑𝑁𝑖

𝑑𝑁𝑖
0 = (1 + 𝑘𝑡)1/𝑛 

𝑘

𝑛

𝑛



 

𝑎 =  𝑒𝑥𝑝 (−𝑟𝑑𝑡) 

𝑟𝑑 = 𝑘𝑑
𝑝𝐶𝐻4

𝑝𝐻2

−
𝑑𝑎

𝑑𝑡
= 𝑘𝑑𝑒𝑥 𝑝 (−

𝐸𝑑

𝑅𝑇
) 𝑎5 



𝑑̅𝑠

𝜕𝑑̅𝑠

𝜕𝑡
= 𝑘𝑠

𝑝𝐻2𝑂

𝑝𝐻2

1

𝑑̅𝑠
6 

𝑑̅𝑠

𝑟𝐹𝑇 =
1

𝑑̅𝑠

𝑘𝑎𝐶𝐶𝑂𝐶𝐻2

(1 + 𝑘𝑏𝐶𝐶𝑂)2
 

 



 









 



 



ℎ𝑙𝑖𝑡 = 1,0 𝑐𝑚)

ℎ𝑙𝑖𝑡 𝑑𝑝⁄ > 50

𝑑𝑡 𝑑𝑝⁄ > 8 ∆𝑃/𝑃𝑎𝑚𝑜𝑛𝑡

 

𝑁𝑖𝑂 + 𝐻2  → 𝑁𝑖° + 𝐻2𝑂 



 





 





 



 

Ψ = 35



 

▲ ○, □ ∆

Ψ = 35 − 38

Δ𝑃/𝑃𝑎𝑚𝑜𝑛𝑡



 

𝑋 <

20 %

 

 

 



 

 

𝑟𝑚𝑒𝑡ℎ 𝐶𝑂2
= 𝑟𝐶𝐻4

 

𝑟𝑅𝑊𝐺𝑆 = 𝑟𝐶𝑂

𝑟𝑚𝑒𝑡ℎ 𝐶𝑂 = 𝑟𝐶𝐻4

𝐹𝑝𝑟𝑜𝑑𝑢𝑖𝑡𝑠
𝑒 ≫ 𝐹𝑝𝑟𝑜𝑑𝑢𝑖𝑡𝑠

𝑓𝑜𝑟𝑚é

 

Ψ = 35



Ψ = 35





Ψ = 35



 

Modèle de Xu et Froment  

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝑝𝐶𝑂2

𝑝𝐻2

0,5

(1 + 𝐾𝐻2
𝑝𝐻2

)
2



Modèle de Weatherbee et Bartholomew 

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝑝𝐶𝑂2

0,5 𝑝𝐻2

1,5

(𝑝𝐻2

0,5 + 𝐾1𝑝𝐶𝑂2

0,5 + 𝐾2𝑝𝐻2
𝑝𝐶𝑂2

0,5 )
2

(𝑝𝐶𝑂2

0,25 𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ
0,5⁄ ) (𝑝𝐶𝑂2

)
0,5

(𝑝𝐻2

0,75 𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ
0,5⁄ ) (𝑝𝐻2

)
0,5



Adaptation du modèle de Wheeler 

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝐾𝐶𝑂2

𝑝𝐶𝑂2
𝐾𝐻2

𝑝𝐻2

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+ 𝐾𝐻2
𝑝𝐻2

)
2

(𝑝𝐶𝑂2
𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ⁄ )

0,5

𝑝𝐶𝑂2
(𝑝𝐻2

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ⁄ )
0,5

𝑝𝐻2



Inhibition par la vapeur d’eau 



𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝐾𝐶𝑂2

𝑝𝐶𝑂2
𝐾𝐻2

𝑝𝐻2

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+  𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐻2𝑂𝑝𝐻2𝑂)
2

(1 𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ⁄ )
0,5

𝑝𝐻2𝑂

Modèle de Xu et Froment 

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝑝𝐶𝑂𝑝𝐻2

0,5

(1 + 𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐶𝑂𝑝𝐶𝑂)
2

(𝑝𝐶𝑂 𝑟𝐶𝑂 𝑚𝑒𝑡ℎ⁄ )0,5

𝑝𝐶𝑂 (𝑝𝐻2

0,25 𝑟𝐶𝑂 𝑚𝑒𝑡ℎ
0,5⁄ 𝑝𝐻2



Modèle adapté 

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =
𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝐾𝐶𝑂𝑝𝐶𝑂𝐾𝐻2

𝑝𝐻2

(1 + 𝐾𝐶𝑂𝑝𝐶𝑂 +  𝐾𝐻2
𝑝𝐻2

)
2

(𝑝𝐶𝑂 𝑟𝐶𝑂 𝑚𝑒𝑡ℎ⁄ )0,5

𝑝𝐶𝑂 (𝑝𝐻2
𝑟𝐶𝑂 𝑚𝑒𝑡ℎ⁄ )

0,5
𝑝𝐻2





Modèle de Xu et Froment  

𝑟𝑅𝑊𝐺𝑆 =
𝑘𝑅𝑊𝐺𝑆𝑝𝐶𝑂2

(1 + 𝐾𝐻2
𝑝𝐻2

)
2



Modèle de Xu et Froment adapté 

𝑟𝑅𝑊𝐺𝑆 =
𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2

𝑝𝐶𝑂2

1 + 𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐶𝑂2
𝑝𝐶𝑂2

𝐶𝑂2 + 𝑋 → 𝐶𝑂 + 𝑂𝑋 𝑋

 

𝐻2 + 𝑂𝑋 → 𝐻2𝑂 + 𝑋

(𝑝𝐶𝑂2
𝑟𝑅𝑊𝐺𝑆⁄ ) (𝑝𝐶𝑂2

)

(1 𝑟𝑅𝑊𝐺𝑆⁄ ) (𝑝𝐻2
)



𝑟𝑅𝑊𝐺𝑆 =
𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2

𝑝𝐶𝑂2

1 + 𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+ 𝐾𝐻2𝑂𝑝𝐻2𝑂



𝑟𝑅𝑊𝐺𝑆 =
𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2

𝑝𝐶𝑂2

1 + 𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+ 𝐾𝐶𝑂𝑝𝐶𝑂



𝑟𝑊𝐺𝑆 = 𝑟𝑅𝑊𝐺𝑆

𝑄𝑟

𝐾𝑒𝑞
=

𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2
𝑝𝐶𝑂𝑝𝐻2𝑂

𝑝𝐻2
(1 + 𝐾𝐻2

𝑝𝐻2
+ 𝐾𝐶𝑂2

𝑝𝐶𝑂2
+ 𝐾𝐶𝑂𝑝𝐶𝑂)𝐾𝑒𝑞,𝑅𝑊𝐺𝑆

𝐾𝐶𝑂2
𝐾𝐻2

𝐾𝐻2𝑂 𝐾𝐶𝑂 𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑘𝐶𝑂 𝑚𝑒𝑡ℎ 𝑘𝑅𝑊𝐺𝑆

 

 

𝑋 < 20%)



𝑟𝑔𝑙𝑜𝑏𝑎𝑙𝑒 = 𝑟+ − 𝑟− = 𝑟+ (1 −
𝑄𝑅

𝐾𝑒𝑞
)

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝐾𝐻2
𝐾𝐶𝑂2

𝑝𝐻2
𝑝𝐶𝑂2

(1 −
𝑝𝐶𝐻4

𝑝𝐻2𝑂
2 𝑝°2

𝑝𝐻2

4  𝑝𝐶𝑂2
𝐾𝑒𝑞,𝐶𝑂2 𝑚𝑒𝑡ℎ

)  

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+  𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐻2𝑂𝑝𝐻2𝑂+𝐾𝐶𝑂𝑝𝐶𝑂)
2

𝑟𝑅𝑊𝐺𝑆 =

𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2
𝑝𝐶𝑂2

(1 −
𝑝𝐶𝑂𝑝𝐻2𝑂

𝑝𝐻2
 𝑝𝐶𝑂2

𝐾𝑒𝑞,𝑅𝑊𝐺𝑆
)

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+  𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐻2𝑂𝑝𝐻2𝑂+𝐾𝐶𝑂𝑝𝐶𝑂)

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ =

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝐾𝐻2
𝐾𝐶𝑂𝑝𝐻2

𝑝𝐶𝑂 (1 −
𝑝𝐶𝐻4

𝑝𝐻2𝑂𝑝°2

𝑝𝐻2

3  𝑝𝐶𝑂𝐾𝑒𝑞,𝐶𝑂 𝑚𝑒𝑡ℎ
)

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

+  𝐾𝐻2
𝑝𝐻2

+ 𝐾𝐻2𝑂𝑝𝐻2𝑂+𝐾𝐶𝑂𝑝𝐶𝑂)
2



 Ψ =  35

 Ψ = 25

 Ψ = 5



𝑚𝑎𝑠𝑠𝑒 é𝑞𝑢𝑖𝑣𝑎𝑙𝑒𝑛𝑡𝑒 = 𝑚𝑎𝑠𝑠𝑒 𝑟é𝑒𝑙𝑙𝑒 
𝐷é𝑏𝑖𝑡 é𝑞𝑢𝑖𝑣𝑎𝑙𝑒𝑛𝑡

𝐷é𝑏𝑖𝑡 𝑟é𝑒𝑙

𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ
′ = 𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ𝐾𝐶𝑂2

𝐾𝐻2

𝑘𝑅𝑊𝐺𝑆
′ = 𝑘𝑅𝑊𝐺𝑆𝐾𝐶𝑂2

𝑘𝐶𝑂 𝑚𝑒𝑡ℎ
′ = 𝑘𝐶𝑂 𝑚𝑒𝑡ℎ𝐾𝐶𝑂𝐾𝐻2



𝑘𝐶𝑂2 𝑚𝑒𝑡ℎ
′ = 𝑘𝑅𝑊𝐺𝑆

′
𝑆𝐶𝐻4,

𝑒

𝑆𝐶𝑂
𝑒

(1 + 𝐾𝐶𝑂2
𝑝𝐶𝑂2

𝑒𝑛𝑡𝑟é𝑒 +  𝐾𝐻2
𝑝𝐻2

𝑒𝑛𝑡𝑟é𝑒 + 𝐾𝐻2𝑂𝑝𝐻2𝑂
𝑒𝑛𝑡𝑟é𝑒+𝐾𝐶𝑂𝑝𝐶𝑂

𝑒𝑛𝑡𝑟é𝑒)

𝑝𝐻2



 



𝐾𝐶𝑂 𝐾𝐻2𝑂 𝐾𝐶𝑂2
𝐾𝐻2

𝑘𝐶𝑂2𝑚𝑒𝑡ℎ 𝑘𝑅𝑊𝐺𝑆 𝑘𝐶𝑂 𝑚𝑒𝑡ℎ



 

𝑋 < 20%







 





 

 

ℎ𝑙𝑖𝑡 = 1,5 𝑐𝑚)



 

ℎ𝑙𝑖𝑡 = 1,5 𝑐𝑚)



 

 



 



 





𝑛

𝑁𝐻2

𝑁𝐴 𝑎𝑚

6

𝑑
=

𝑆

𝑉
 ⇌ 𝑑 =

6𝑉

𝑆
=

6 (𝑤𝑡
100 ⁄ ) (𝑚 𝜌⁄ )

𝑆

𝑤𝑡

𝑁𝐻2

𝑆𝑁𝑖°

𝑑 

𝑆𝑁𝑖° =  𝑛 𝑁𝐻2
 𝑁𝐴 𝑎𝑚              (𝑚2 𝑔−1)





 

 



 



 



 



 



 





𝑑𝑐 =  
𝑘𝜆

𝛽𝑐𝑜𝑠𝜃

𝑘 𝜆

𝛽

𝜃

2𝜃



 





 



 

−
𝑑 (𝑆(𝑡)

𝑆0
⁄ )

𝑑𝑡
= 𝑘𝑠𝑖𝑛𝑡,0 exp (−

𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇
) (

𝑝𝐻2𝑂

𝑃𝐻2

)

𝑝

(
𝑆(𝑡)

𝑆0
−

𝑆𝑒𝑞

𝑆0
)

2

 

𝑘𝑠𝑖𝑛𝑡,0

𝑘𝑠𝑖𝑛𝑡,𝑟𝑒𝑓



𝑘𝑠𝑖𝑛𝑡,0 = 𝑘𝑠𝑖𝑛𝑡,𝑟𝑒𝑓 exp (
𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇𝑟𝑒𝑓
) 

𝑘𝑠𝑖𝑛𝑡,𝑟𝑒𝑓

𝐸𝑎𝑠𝑖𝑛𝑡 𝑝 𝑆𝑒𝑞

𝑆0

𝑘𝑠𝑖𝑛𝑡,𝑟𝑒𝑓 ;  𝐸𝑎𝑑 𝑝

𝑆𝑒𝑞/𝑆0 𝑆𝑒𝑞/𝑆0

𝑝



𝑝 𝑆𝑒𝑞/𝑆0 𝐸𝑎𝑑 𝑘𝑠,𝑟𝑒𝑓

𝑆0 𝑝 𝑘𝑠𝑖𝑛𝑡,𝑟𝑒𝑓 𝐸𝑎𝑠𝑖𝑛𝑡 𝑆𝑒𝑞/𝑆0



 



 

𝑟𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑟𝐶𝑂 𝑚𝑒𝑡ℎ 𝑟𝑅𝑊𝐺𝑆

 Ψ = 25

 Ψ = 5

 

𝑎𝐶𝑂2 𝑚𝑒𝑡ℎ(𝑡) 𝑎𝐶𝑂 𝑚𝑒𝑡ℎ(𝑡) 𝑎𝑅𝑊𝐺𝑆(𝑡)



𝑎𝐶𝑂2 𝑚𝑒𝑡ℎ(𝑡) =  
𝑟𝐶𝑂2𝑚𝑒𝑡ℎ (𝑡, 𝑇, 𝑝𝑖)

𝑟𝐶𝑂2𝑚𝑒𝑡ℎ (𝑡 = 0, 𝑇, 𝑝𝑖)
=  

𝑘′𝐶𝑂2𝑚𝑒𝑡ℎ (𝑡, 𝑇)

𝑘′𝐶𝑂2𝑚𝑒𝑡ℎ (𝑡 = 0, 𝑇)
 

𝑎𝐶𝑂 𝑚𝑒𝑡ℎ(𝑡) =  
𝑟𝐶𝑂 𝑚𝑒𝑡ℎ (𝑡, 𝑇, 𝑝𝑖)

𝑟𝐶𝑂 𝑚𝑒𝑡ℎ (𝑡 = 0, 𝑇, 𝑝𝑖)
=  

𝑘′𝐶𝑂 𝑚𝑒𝑡ℎ (𝑡, 𝑇)

𝑘′𝐶𝑂 𝑚𝑒𝑡ℎ (𝑡 = 0, 𝑇)
 

𝑎𝑅𝑊𝐺𝑆(𝑡) =  
𝑟𝑅𝑊𝐺𝑆 (𝑡, 𝑇, 𝑝𝑖)

𝑟𝑅𝑊𝐺𝑆 (𝑡 = 0, 𝑇, 𝑝𝑖)
=  

𝑘′𝑅𝑊𝐺𝑆 (𝑡, 𝑇)

𝑘′𝑅𝑊𝐺𝑆 (𝑡 = 0, 𝑇)
 



𝑎𝐶𝑂2 𝑚𝑒𝑡ℎ 𝑎𝐶𝑂 𝑚𝑒𝑡ℎ 𝑎𝑅𝑊𝐺𝑆
𝑆𝑁𝑖° 







 





𝑎𝐶𝑂2𝑚𝑒𝑡ℎ(𝑡) = 1,72 𝑆(𝑡) 𝑆0⁄ − 0,0741 

𝑎𝐶𝑂 𝑚𝑒𝑡ℎ(𝑡) =  0,874 𝑆(𝑡) 𝑆0⁄ + 0,583 

𝑎𝑅𝑊𝐺𝑆(𝑡) = 1,40 𝑆(𝑡) 𝑆0⁄ + 0,570 

 







 



 

 





 



 





 



 



 

 



𝑋𝐶𝑂2
=  

(1 + 𝑅)𝑥𝐶𝐻4

𝑠

1 + 4𝑥𝐶𝐻4

𝑠

 









 

 







 





 



 



 

 





 

















 

 



 Ψ = 25

 Ψ = 5

 





 

𝑟𝑗(𝑡, 𝑇, 𝑝𝑖) = 𝑎𝑗(𝑡). 𝑟𝑗(𝑡 = 0, 𝑇, 𝑝𝑖)















 







 



 

𝜀 𝜀𝑝



𝐿𝑚

𝐿

𝜏 =  
𝐿𝑚

𝐿

𝑎𝑠

𝜀

𝑎𝑠 =
6 

𝑑
(1 −  𝜀)

𝜀𝑝 𝑎𝑠



𝜈

𝑑 ≪ 𝜈 ≪ 𝐿𝑟é𝑎𝑐𝑡𝑒𝑢𝑟

𝑑𝑝 ≪ 𝜈 ≪ 𝑑



 



 

1

𝜀

𝜕𝜌𝑔𝒖

𝜕𝑡
=  −𝛁𝑃 −

𝜇

𝐾
𝒖

𝜇

𝜇𝑓 =  
∑ 𝑥𝑖𝜇𝑖𝑖 √𝑀𝑖

∑ 𝑥𝑖𝑖 √𝑀𝑖

 

𝐾

𝜀 = 1 −
𝜌𝑎𝑝𝑝

𝜌𝑠



- 

−𝒏. (𝜌𝑔. 𝒖) = 𝑊𝑒

- 
𝑝 = 𝑝𝑠

- 
−𝒏. 𝜌𝒖 = 0

 

 

𝑖

𝜕𝜌𝑔𝜔𝑖

𝜕𝑡
=  −𝛻. (𝜌𝑔𝜔𝑖𝒖) − 𝛻. 𝒋𝒊 + 𝑠𝑖         (𝑘𝑔 𝑠−1 𝑚−3)

𝜕𝜌𝑔𝜔𝑖

𝜕𝑡
𝑖

𝛻. (𝜌𝑔𝜔𝑖𝒖) 𝑖

𝒋𝒊 𝑠𝑖

𝑠𝑖

𝑠𝑖 = 𝑎𝑠𝑘𝑠,𝑖𝑀𝑖(𝐶𝑠,𝑖 − 𝐶𝑔,𝑖)
𝑠𝑢𝑟𝑓

 

𝑘𝑠,𝑖

𝑘𝑠,𝑖 =
0,36. 𝑢

(1 − 𝜀)
𝑆𝑐−0,67𝑅𝑒𝑑

−0,36



- 𝑖

𝜔𝑖 = 𝜔𝑖
𝑒

- 
−𝒏. 𝒋𝒊 = 0

- 
−𝒏. 𝑵𝑖 = 0

 

𝒋𝒊

𝒋𝒊 =  −𝜌𝐷𝑑,𝑖𝛁𝑤𝑖  

𝐷𝑑,𝑖

𝒋𝒊
∗ =  −𝐷𝑑,𝑖

∗ MiC𝛁𝑥𝑖 

𝐷𝑑,𝑖
∗ 𝐷𝑑,𝑖

𝒋𝒊 𝒋𝒊
∗

𝐷𝑑,𝑖
∗



𝒋𝒊 =  (
1 − 𝜔𝑖

1 − 𝑥𝑖
) 𝒋𝒊

∗ 

𝑖

𝑖

𝒋𝒊

𝒋𝒊 =  − (
1 − 𝜔𝑖

1 − 𝑥𝑖
) 𝜌𝑖𝐷𝑑,𝑖

∗ 𝛁𝑥𝑖

𝑥𝑖
  

𝐷𝑑,𝑖
∗

𝐷𝑑,𝑖
∗ = 𝐷𝑒𝑓𝑓,𝑖

∗ + 𝐷𝑑𝑖𝑠𝑝,𝑖
∗  

𝐷𝑑,𝑟𝑎𝑑,𝑖
∗

𝐷𝑑,𝑎𝑥,𝑖
∗

(
𝐷𝑑,𝑟𝑎𝑑,𝑖

∗  0

0 𝐷𝑑,𝑎𝑥,𝑖
∗ )

𝐷𝑑,𝑟𝑎𝑑,𝑖
∗ 

𝐷𝑚,𝑖
∗ =

𝜀

𝜏 
+

𝑅𝑒𝑑𝑆𝑐

𝑃𝑒𝑓
 

𝐷𝑑,𝑎𝑥,𝑖
∗ 

𝐷𝑚,𝑖
∗ = 𝛾1 𝜀 + 𝛾2𝑅𝑒𝑑𝑆𝑐 

𝛾1 = 0,73 𝛾2 = 0,5(1 +
13𝛾1𝜀

𝑅𝑒𝑑𝑆𝑐⁄ ) 𝜏 = 1,2

𝑃𝑒𝑓 = 40 − 29. exp (− 7 𝑅𝑒𝑑⁄ )



𝑖

𝐷𝑚,𝑖
∗

𝐷𝑚,𝑖
∗ =

1 − 𝑥𝑖

∑
𝑥𝑘

𝐷𝑖,𝑘
𝑘≠𝑖

 

𝐷𝑖,𝑘

𝐷𝑖,𝑘 =  
0,00143. 𝑇1,75

𝑃𝑀𝑖,𝑘
0,5 (𝑉

𝑖

1
3 + 𝑉𝑘

1
3)

2

 

 

𝑀𝑖,𝑘 = 2(𝑀𝑖
−1 + 𝑀𝑘

−1)
−1

𝑉𝑖 𝑉𝑘 𝑉𝐻2
= 6,12 ; 𝑉𝐶𝑂2

= 26,7 ; 𝑉𝐶𝐻4
= 25,14 ; 𝑉𝐻2𝑂 =

18,07 𝑇 𝑃 𝐷𝑖,𝑘

 

𝑖

𝜕𝐶𝑠,𝑖

𝜕𝑡
=  − 𝛻. (−𝐷𝐾,𝑖

∗ 𝜵𝐶𝑠,𝑖) + ∑ 𝜈𝑖,𝑗𝑟𝑗

𝑗

(𝑡)             (𝑚𝑜𝑙 𝑠−1 𝑚−3)

𝑖



𝐷𝐾,𝑖
∗

𝐷𝐾,𝑒𝑓𝑓,𝑖 = 1,534.
𝜀𝑝

𝜏𝑝
𝑑𝑝√

𝑇

𝑀𝑖

𝜀𝑝

0,50 𝑐𝑚3 𝑔−1

1274 𝑘𝑔 𝑚−3

𝑟𝑗(𝑡)

𝑟𝑗(𝑡) = 𝑟𝑗(𝑡 = 0)𝑎𝑗(𝑡)

𝑟𝑗(𝑡 = 0)

𝑎𝑗(𝑡)

- 

𝒏. (−𝐷𝐾,𝑖
∗ 𝜵𝐶𝑠,𝑖) = 𝑘𝑠,𝑖(𝐶𝑔,𝑖 − 𝐶𝑠,𝑖)

− 

𝒏. (−𝐷𝐾,𝑖
∗ 𝜵𝐶𝑠,𝑖) = 0



 

 

𝜌𝑔𝑐𝑝,𝑔
𝜕𝑇𝑔

𝜕𝑡
= −𝜌𝑔𝑐𝑝,𝑔𝒖. 𝜵𝑇𝑔 −  𝛻. (−𝝀𝒆𝒒. 𝜵𝑇𝑔) + 𝑄 (𝑊 𝑚−3)

𝑐𝑝,𝑔

𝒖. 𝜵𝑇𝑔 𝜆𝑒𝑞 . 𝜵𝑇𝑔

𝑄

𝑄 =  𝑎𝑠ℎ𝑠(𝑇𝑠 − 𝑇𝑔)
𝑠𝑢𝑟𝑓

 

ℎ𝑠

ℎ𝑠 =
0,43

(1 − 𝜀)
(𝑐𝑝,𝑔𝜌𝑔𝑢). 𝑅𝑒𝑑

−0,36𝑃𝑟−0,67

- 

𝑇 = 𝑇𝑒

- 

−𝒏. (− 𝜆𝑒𝑞 . 𝜵𝑇𝑔) = 0

- 

−𝒏. (− 𝜆𝑒𝑞 . 𝜵𝑇𝑔) = ℎ𝑃(𝑇𝑃 − 𝑇𝑔)



 

𝜌𝑠𝑐𝑝,𝑠

𝜕𝑇𝑠

𝜕𝑡
= −𝛻. (−𝜆𝑠𝜵𝑇𝑠) + ∑ 𝑟𝑗(𝑡)(−Δ𝑟𝐻𝑗(𝑇𝑠))

𝑗

          (𝑊 𝑚−3)

𝜆𝑠

0,87 𝑊 𝑚−1 𝐾−1

𝑐𝑝,𝑠

- 

−𝒏. (−𝜆𝑠𝜵𝑇𝑠) = ℎ𝑠(𝑇𝑠 − 𝑇𝑔)

− 

−𝒏. (−𝜆𝑠𝜵𝑇𝑠) = 0

 









ℎ𝑃 − 𝜆𝑒𝑞

𝜆𝑒𝑞,𝑟𝑎𝑑

𝜆𝑔
=

𝜆𝑒𝑞,0

𝜆𝑔
+ 0,11. 𝑃𝑒𝑑

𝜆𝑒𝑞,𝑎𝑥

𝜆𝑔
=

𝜆𝑒𝑞,0

𝜆𝑔
+ 0,75. 𝑃𝑒𝑑

𝜆𝑒𝑞,0

𝜆𝑒𝑞,0

𝜆𝑔
= (

0,87

𝜆𝑔
)

0,69



𝜆𝑔

𝜆𝑔 =  ∑
𝑥𝑖𝜆𝑖

∑ 𝑥𝑗𝐴𝑖,𝑗𝑗
 

𝑖

  

𝜆𝑖

𝐴𝑖,𝑗

𝐴𝑖,𝑗 =  

𝜀 (1 + (
𝜂𝑖𝑀𝑗

𝜂𝑗𝑀𝑖
)

1
2

(
𝑀𝑖
𝑀𝑗

)

1
4

)

2

 

(8 (1 +
𝑀𝑖
𝑀𝑗

))

1
2

 

ℎ𝑃

𝑁𝑢𝑃 =  
ℎ𝑃𝑑

𝜆𝑔
=  0,037.

𝜆𝑒𝑞,0

𝜆𝑔
+ 0,22. 𝑅𝑒𝑑

0,53𝑃𝑟0,71  

 

𝜌𝑃𝑐𝑝,𝑃

𝜕𝑇𝑃

𝜕𝑡
= −𝛻. (−𝜆𝑃𝜵𝑇𝑃)

𝜆𝑃



- 

−𝒏. (− 𝜆𝑃𝜵𝑇𝑃) = ℎ𝑃(𝑇𝑔 − 𝑇𝑃)

- 

−𝒏. (− 𝜆𝑃𝜵𝑇𝑃) = ℎ𝑐(𝑇𝑐 − 𝑇𝑃)

ℎ𝐶

𝐷ℎ

𝑁𝑢𝑐 =  
ℎ𝑐𝐷ℎ

𝜆𝑐
= 0,023. 𝑅𝑒𝐶

0,8𝑃𝑟𝐶
1/3

ℎ𝑐

 

 



𝑄𝑚𝑜𝑑 = 𝑄𝑟é𝑒𝑙

𝑆𝑚𝑜𝑑

𝑆𝑟𝑒𝑒𝑙



 

 

𝑋𝐶𝑂2
=  

𝐹𝐶𝐻4,𝑠 + 𝐹𝐶𝑂,𝑠 + 2𝐹𝐶2𝐻6,𝑠

𝐹𝐶𝐻4,𝑠 + 𝐹𝐶𝑂,𝑠 + 2𝐹𝐶2𝐻6,𝑠 + 𝐹𝐶𝑂2,𝑠







 





 

 



𝑎(𝑡) =
𝑟(𝑡, 𝑇, 𝑝𝑖)

𝑟(𝑡0, 𝑇, 𝑝𝑖)
=  

𝑆(𝑡)

𝑆0

−
𝑑𝑎

𝑑𝑡
= 𝑘𝑠𝑖𝑛𝑡,0 exp (−

𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇
) (

𝑝𝐻2𝑂

𝑃𝐻2

)

𝑝

(𝑎 − 𝑎𝑒𝑞)

2

𝑎𝑒𝑞

 





Comparaison avec les résultats expérimentaux 



−𝒏. (− 𝜆𝑒𝑞 . 𝜵𝑇𝑔) = 𝜌 ( ∫ 𝑐𝑝,𝑔𝑑𝑇

𝑇

𝑇𝑒

) 𝒖. 𝒏



 

Comparaison avec les résultats expérimentaux 



 

𝑎𝐶𝑂2𝑚𝑒𝑡ℎ(𝑡) = 1,84 𝑆(𝑡) 𝑆0⁄ − 0,16 

𝑎𝐶𝑂 𝑚𝑒𝑡ℎ(𝑡) =  0,57 ln(𝑆(𝑡) 𝑆0 ⁄ ) + 1,46 

𝑎𝑅𝑊𝐺𝑆(𝑡) = 1,02 ln(𝑆(𝑡) 𝑆0 ⁄ ) + 2,01 



−
𝑑𝑎𝐶𝑂2𝑚𝑒𝑡ℎ

𝑑𝑡
=

𝑘𝑠𝑖𝑛𝑡,0

𝑥
exp (−

𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇
) (

𝑝𝐻2𝑂

𝑃𝐻2

)

𝑝

(𝑎𝐶𝑂2𝑚𝑒𝑡ℎ − 𝑎𝐶𝑂2𝑚𝑒𝑡ℎ,𝑒𝑞)

2

−
𝑑𝑎𝐶𝑂𝑚𝑒𝑡ℎ

𝑑𝑡
= 𝑦1 𝑘𝑠𝑖𝑛𝑡,0 exp (−

𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇
) (

𝑝𝐻2𝑂

𝑃𝐻2

)

𝑝

exp (
𝑎𝐶𝑂 𝑚𝑒𝑡ℎ − 𝑦2

𝑦1

) (1 − exp (
𝑎𝐶𝑂𝑚𝑒𝑡ℎ,𝑒𝑞 − 𝑎𝐶𝑂𝑚𝑒𝑡ℎ

𝑦1

))

2

−
𝑑𝑎𝑅𝑊𝐺𝑆

𝑑𝑡
= 𝑧1 𝑘𝑠𝑖𝑛𝑡,0 exp (−

𝐸𝑎𝑠𝑖𝑛𝑡

𝑅𝑇
) (

𝑝𝐻2𝑂

𝑃𝐻2

)

𝑝

exp (
𝑎𝐶𝑂 𝑚𝑒𝑡ℎ − 𝑧2

𝑧1

) (1 − exp (
𝑎𝑅𝑊𝐺𝑆,𝑒𝑞 − 𝑎𝑅𝑊𝐺𝑆

𝑧1

))

2



𝑆𝑒𝑞 𝑆𝑒𝑞 = 1,9 𝑚2𝑔−1)

𝑥 = 1,83 𝑎𝐶𝑂2𝑚𝑒𝑡ℎ,𝑒𝑞 = 0,18

𝑦1 = 0,57 𝑦2 = 1,46 𝑎𝐶𝑂𝑚𝑒𝑡ℎ,𝑒𝑞 = 0,51

𝑧1 = 1,02 𝑧2 = 2,01 𝑎𝑅𝑊𝐺𝑆,𝑒𝑞 = 0,31



Résultats de la simulation avec la version B du réacteur milli-structuré 



Comparaison avec les résultats expérimentaux 





 

 





 



 





























‑

















 

 









𝑑𝑅

𝑑𝑡
=

(2𝜋𝑅𝑠𝑖𝑛𝜃𝛼𝛽′) (
2𝜋𝐷1

log (
𝐿

𝑅𝑠𝑖𝑛𝜃)
)

2𝜋𝑅𝑠𝑖𝑛𝜃𝛼𝛽′ + (
2𝜋𝐷1

log (
𝐿

𝑅𝑠𝑖𝑛𝜃)
)

2𝐶𝑝𝑒𝑞𝛽𝛾𝑚Ω2

4𝜋𝑅2𝛼1𝑘𝑇
(

1

𝑅∗
−

1

𝑅
) 

𝛽′ = 𝜈𝑠exp (−𝐻𝑚
𝑠 /𝑘𝑇 𝜈𝑠 𝐻𝑚

𝑠

𝛽 = 𝜈𝑝/𝜈𝑠exp (−𝐻𝑝𝑠/𝑘𝑇 𝜈𝑝

𝐻𝑝𝑠

𝛼

𝐷1 𝐷1 = 𝑏𝑙2𝜈0 (
𝑆𝑚

𝑠

𝑘
) exp (−

𝐻𝑚
𝑠

𝑘𝑇
)

𝑏 𝑙  𝜈0

𝑆𝑚
𝑠

𝐿 𝐶𝑠̅

𝑘 = 1,38064852.10−23 𝑚2𝑘𝑔𝑠−2𝐾−1

𝛼1 𝑉 =
4𝜋𝑅3𝛼1

3

𝛼1 =
2−3𝑐𝑜𝑠𝜃+𝑐𝑜𝑠3𝜃

4

𝑅∗



2𝜋𝐷1

log (
𝐿

𝑅𝑠𝑖𝑛𝜃)
≫  2𝜋𝑅𝑠𝑖𝑛𝜃𝛼𝛽′ 

𝑑𝑅

𝑑𝑡
=

𝑠𝑖𝑛𝜃𝛼𝛽′𝛽𝐶𝑝𝑒𝑞𝛾𝑚Ω2

𝛼1𝑘𝑇𝑅2
(

𝑅

𝑅∗
− 1) 

R𝑖
∗(𝑡) = 𝑅𝑖

∗(0) (1 +
Ki𝑡

𝑅𝑖
∗3(0)

)

1
3

≈ 𝐾𝑖𝑡

1
3



𝐾𝑖 =
4𝑠𝑖𝑛𝜃𝛼𝛽′𝛽𝐶𝑝𝑒𝑞𝛾𝑚Ω2

9𝛼1𝑘𝑇

2𝜋𝐷1

log (
𝐿

𝑅𝑠𝑖𝑛𝜃)
≪  2𝜋𝑅𝑠𝑖𝑛𝜃𝛼𝛽 

𝑑𝑅

𝑑𝑡
=

𝐷1𝛽𝐶𝑝𝑒𝑞𝛾𝑚Ω2

log (
𝐿

𝑅𝑠𝑖𝑛𝜃) 𝛼1𝑘𝑇𝑅3
(

𝑅

𝑅∗
− 1) 

R𝑑
∗ (𝑡) = 𝑅𝑑

∗ (0) (1 +
KD𝑡

𝑅𝐷
∗4(0)

)

1
4

≈ 𝐾𝐷𝑡

1
4

KD =
27D1𝛽𝑐𝑝

𝑒𝑞
𝛾𝑚𝛺2

64 log(
𝐿

𝑅𝑠𝑖𝑛𝜃
)𝛼1𝑘𝑇

 

𝑅𝑑
∗ = 𝑅̅d





𝜙 (𝑠−1𝑔−1) = 𝑐𝑐𝑎𝑡 ∫ 𝜙𝑗(𝑠−1)𝑓𝐿𝑛(𝑑𝑗)𝑑𝑙𝑛 (
𝑑𝑗

𝑑̅
)

+∞

−∞

= 𝑐𝑜𝑛𝑠𝑡. 𝑐𝑐𝑎𝑡.𝑐𝑐𝑎𝑟𝐷(𝑑̅𝑛)

𝑐𝑐𝑎𝑡 

𝑐𝑐𝑎𝑡 = 𝑐𝑜𝑛𝑠𝑡
𝑋

𝜌𝑑3

𝑐𝑐𝑎𝑟

𝑐𝑐𝑎𝑟 = 𝑐𝑜𝑛𝑠𝑡
𝑋

𝜌(1 − 𝑋)𝐴𝑑3

𝑋 𝜌 𝐴

𝐷 𝑓𝐿𝑛 𝜙𝑗

𝑑𝑗 𝑑̅

∆(𝑑̅) = 𝑐𝑜𝑛𝑠𝑡
𝑑̅

𝑁 − 1



∆(𝑑̅) ≈ 𝑐𝑜𝑛𝑠𝑡
𝑑̅

𝑁

𝑑(𝑑̅)

𝑑𝑡
= 𝜙∆(𝑑̅) = 𝑐𝑜𝑛𝑠𝑡

𝑑̅

𝑐𝑐𝑎𝑡
𝑐𝑐𝑎𝑡𝑐𝑐𝑎𝑟𝐷(𝑑̅𝑛)

𝑑(𝑑̅)

𝑑𝑡
= 𝑐𝑜𝑛𝑠𝑡

𝐷(𝑑̅𝑛)𝑋

𝜌(1 − 𝑋)𝐴𝑑̅2

𝐷

∗𝑁𝑖(1 1 1)+ 𝑁𝑖𝑏𝑢𝑙𝑘  ⇆ 𝑎𝑑 − 𝑎𝑡𝑜𝑚𝑒 𝑑𝑒 𝑁𝑖 𝑠𝑢𝑟 𝑁𝑖(1 1 1)

∗𝑁𝑖(1 1 1)

2 ∗𝑁𝑖(1 1 1)+ 𝐻2𝑂 (𝑔) + 2𝑁𝑖𝑏𝑢𝑙𝑘  

⇆ 𝑁𝑖2 − 𝑂𝐻(2 ∗𝑁𝑖(1 1 1)) + 0,5 𝐻2 (𝑔)



𝐷𝑝
𝑎𝑑 𝑎𝑡𝑜𝑚

= 4,818𝐷𝑎𝑑 𝑎𝑡𝑜𝑚 (
𝑎4

𝑑4
) 𝐾1

𝐾1

𝑑̅𝑁𝑖

𝑑̅0

= (𝑐𝑜𝑛𝑠𝑡.
𝐾1𝐷𝑁𝑖𝑋𝑡

𝑑̅0
7(1 − 𝑋)𝐴

+ 1)

1/7

𝐾2 =  
𝜃𝑁𝑖2𝑂𝐻

1 − 2𝜃𝑁𝑖2𝑂𝐻

√𝑝𝐻2

𝑝𝐻2𝑂



𝜃𝑁𝑖2𝑂𝐻 ≈ 𝐾2

𝑝𝐻2𝑂

√𝑝𝐻2

𝐷𝑝
𝑂𝐻−𝑑𝑖𝑚𝑒𝑟 = 9,632𝐷𝑂𝐻−𝑑𝑖𝑚𝑒𝑟 (

𝑎4

𝑑4
) 𝐾2

𝑝𝐻2𝑂

√𝑝𝐻2

𝑑̅𝑁𝑖

𝑑̅0

= (𝑐𝑜𝑛𝑠𝑡.
𝐾2𝐷OH−dimer𝑋𝑡

𝑑̅0
7(1 − 𝑋)𝐴

𝑝𝐻2𝑂

√𝑝𝐻2

+ 1)

1/7



|𝜒| =
𝑟𝑎𝑝𝑝(−Δr𝐻)(𝑑

6⁄ )

ℎ𝑠𝑇𝑔
<

0.05𝑅𝑇𝑔

𝐸𝑎

𝐶𝑎 =
𝑟𝑎𝑝𝑝(𝑑

6⁄ )

𝑘𝑠𝐶𝐴
=

𝐶𝐴,𝑔 − 𝐶𝐴,𝑠

𝐶𝐴,𝑔
<

0.05

𝑛

|𝛼| =
𝑟𝑎𝑝𝑝(−Δr𝐻) (

𝑑
6

)
2

 

𝜆𝑒𝑞𝑇𝑠
<  

0.05𝑅𝑇𝑠

𝐸𝑎

𝜑′ =
𝑛 + 1

2

𝑟𝑎𝑝𝑝 (
𝑑
6)

2

𝐷𝐴,𝑒𝑓𝑓 𝐶𝐴,𝑠
< 0.10

𝑁𝑢 =
ℎ𝑠𝑑𝑝

𝜆𝑔
= 2 + 1.1𝑅𝑒𝑑

0.6𝑃𝑟
1
3

𝑆ℎ =
𝑘𝑠𝑑𝑝

𝐷𝐴
= 2 + 1.1 𝑅𝑒𝑑

0.6𝑆𝑐
1
3 



𝑟𝑎𝑝𝑝

𝑑 𝐶𝐴

𝐶𝑝 𝐷𝐴

Δ𝑟𝐻 𝐷𝐴,𝑒𝑓𝑓

𝜌𝑔 𝑘𝑠

𝐸𝑎 𝜆𝑔

𝜇𝑔 ℎ𝑠

𝜏𝑝 𝜆𝑒𝑞

𝜀𝑝

|𝜒|

|𝛼|

𝜑′







𝜌𝑔

𝜕𝐸

𝜕𝑡
= −(𝛻. 𝜌𝑔𝐸𝒖) − ( 𝛻.  𝒒) − 𝑝(𝜵. 𝒖) − (𝜏: 𝜵𝒖) + Q 

(𝜏: 𝛻𝑢)

𝜌𝑔

𝜕𝐸

𝜕𝑡
= −(𝛻. 𝜌𝑔𝐸𝒖) − ( 𝛻.  𝒒) − 𝑝(𝜵. 𝒖) 

𝐷𝜌𝑔

𝐷𝑡
= −𝜌𝑔(𝛻.  𝒖) 
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Compréhension et modélisation des  
mécanismes de désactivation d’un catalyseur 
de méthanation de CO2 au sein d’un réacteur-

échangeur milli-structuré à lit fixe 
 

Résumé 

Le Power-to-SNG est un procédé permettant de stocker le surplus d’énergie élec-
trique renouvelable sous forme de SNG (Substitute Natural Gas) via la réaction de 
méthanation de CO2, catalysée par un catalyseur solide. Dans le but d’une injection 
directe du SNG dans le réseau de gaz, il est nécessaire d’obtenir des taux de con-
version élevés. Néanmoins, au cours du temps, le catalyseur se désactive et il est 
alors possible que le gaz produit ne respecte plus les spécifications d’injection dans 
le réseau de gaz. Dans ces travaux, une méthodologie est mise en place pour com-
prendre les principaux mécanismes de désactivation d’un catalyseur commercial 
(Ni/Al2O3) intervenant au sein d’un réacteur-échangeur milli-structuré à lit fixe afin de 
les modéliser. Elle consiste à aborder la désactivation du catalyseur sous un angle 
expérimental à différentes échelles. Un modèle cinétique ainsi que des lois de désac-
tivation sont identifiés et sont par la suite implémentés dans un modèle de représen-
tation du réacteur déjà existant. Finalement, les résultats de simulation sont confron-
tés aux résultats de désactivation expérimentaux obtenus à l’échelle du réacteur milli-
structuré. 
 

Mots clés : Désactivation, méthanation de CO2, Power-to-Gas, cinétique, catalyseur 
Ni/Al2O3  

 

Abstract 

Power-to-SNG aims at storing the renewable electric surplus as SNG (Substitute Nat-
ural Gas) via the CO2 methanation reaction with a solid catalyst. For the purpose of 
the SNG direct injection into the gas network, high conversion rates are needed. Nev-
ertheless, over time, the catalyst deactivates and the SNG may no longer meet the 
gas network injection specifications. In this work, a methodology is developed to un-
derstand the main deactivation mechanisms of a commercial catalyst (Ni/Al2O3) in a 
milli-structured fixed-bed reactor-heat exchanger in order to model them. Deactivation 
is dealt with at different experimental scales. A kinetic model and deactivation laws 
are identified and subsequently implemented in an already existing multi-scale reactor 
model. Finally, the simulation results are compared with experimental deactivation 
results obtained at the scale of the milli-structured reactor. 
 

Keywords: Deactivation, CO2 methanation, Power-to-Gas, kinetic, Ni/Al2O3 catalyst 


